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% C1 Cc2 Cc3 Cc4 & 0
(m/s) (kg/m°)
2.38 0.80 -0.50 0.10 -0.50 2.00 1.20
S1 S2 S3 S4 S5
(m?) (m?) (m?) (m?) (m?)
0.44 0.81 0.46 0.81 4.00
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(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
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1.51 1.19 0.54 1.19 0.10 0.00
IN ouT IN ouT IN OK
XIN A
OUT: ittt
mBE

5391 m/h

HMEEE BREE

SE2 ASBRERHBLURA/N\—OR B ET{H

ECEORRSTHD (—HD

58130 58148 58150
BE | B | RARE [ AR BRI | RiRE | EE | B | RaE
(m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h)
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ﬁﬁa‘?iﬁ}ﬁ% 1,028,555 638,319 1,239,369 1,313,952 385,499 4,605,695 744 6,190
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